[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

15 20 25

I3 %)
<@ o
] e
£ 3
2 ]
= @
] c
= S
i
o
o 2" [ | I R( | -
: |l H‘HH
14 o I (G| -
1 L
0.o58L : . 0.95) i ) I
=25-20-15-10 -5 0 5 10 15 20 25 25 20 15 10 -5
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_mkFit_baseline
—e— DQM_mkFit_baseline6iter
I N of sim| —— DQM_mkFit_TT_RetrainvV2_WP2_6iter_ep3
I %)
2 o
o =
B ]
8 J5
g 2102
= 7]
g g
= o
i}
o
10
| {3 Rk [
TR
S \ ittt \ ittt S 1 -
o | niltfitati ‘ N o i
A T '
d B ‘ |”' BACAE A i At
-1 .6 0.8 —l -0.8-0.6-0.4-0.2 0 0.20 060 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
I F »
K} 3 . o
s f : =
o S Rk AENET SRR 3
e - )
3 ' g
8 10% - - e EEERRE e LEERRE 15
= o
o

£ . k=]
3 : T
@ u_ @
P---- 3 b4:-----
i
9G35~ =16 0 — 10 20 0% =20 -0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
o a
8 =
3
g £
4 [%]
Q c
S Is]
= 3
[hq

0.5 1
TP dz(PV) (cm)

Ratio




	Contents
	Page 1


